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INTERMEDIATE EXAMINATION – 2020 (ANNUAL) 

I.Com. 

Model Set 

Economics

       le;%& 3 ?kaVs 15 feuV 

            Time:- 3 hours 15 minute 
dqy iz’uksa dh la[;% 95     dqy eqfnzr i`"Bksa dh la[;k% 

 

Instructions for the candidates :- 

1- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far 

as practicable. 

2- nkfguh vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

3- bl iz’u i= dks /;kuiwoZd i<+us rFkk funsZ’kksa ds vuqikyu ds fy, 15 feuV dk 

vfrfjDr le; fn;k x;k gSA 

15 minutes of extra time has been allotted for the candidate to 

read the questions and follow the instructions carefully. 

4- ;g iz’u&i= nks [k.Mksa esa gS]  ,oa  

This question paper is divided into two sections: Section-A and 

Section-B. 

Sl. Code :- 219 

Click Here To Download Bihar Board Class 12 Model Papers (2020)

Rames
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5- [k.M&v esa 60 oLrqfu"B iz’u gSa] izR;sd ds fy, 1 vad fu/kkZfjr gSA ftuesa ls 

fdUgha 50 iz’uksa dk mÙkj nsuk gSA budk mÙkj miyC/k djk;s x;s OMR&’khV 

esa fn;s x;s lgh òÙk dks dkys@uhys ckWy isu ls HkjsaA fdlh Hkh izdkj ds 

OgkbVuj@rjy inkFkZ@CysM@uk[kwu vkfn dk OMR ’khV esa iz;ksx djuk euk 

gS] vU;Fkk ijh{kk ifj.kke vekU; gksxkA½ ;fn dksbZ ijh{kkFkhZ 50 iz’uksa ls vf/kd 

mÙkj nsrs gS rks izFke 50 iz’uksa ds mÙkj dh gh tk¡p gksxhA 

In Section-A, there are 60 objective type questions which are 

compulsory, each carrying 1 mark out of which 50 questions are to 

be answered Darken the circle with black/blue ball pen against the 

correct option on OMR Sheet provided to you. Do not use 

Whitener/Liquid/Blade/Nail on OMR Sheet, otherwise the result will 

be treated as invalid. If any candidate answers more than 50 

questions, then first 50 answers will be evaluated. 

6- [k.M&c esa xSj&oLrqfu"B 27 y?kqmÙkjh; iz’u gSa] ftuesa ls fdUgha 15 iz’uksa dk 

mÙkj nsuk vfuok;Z gSA izR;sd iz’u ds fy, 2 vad fu/kkZfjr gSA blds vfrfjDr 

 esa 08 nh?kZ mÙkjh; iz’u Hkh fn, x, gSa] ftuesa ls fdUgha 04 iz’uksa dk 

mÙkj nsuk vfuok;Z gSA izR;sd iz’u ds fy, 05 vad fu/kkZfjr gSaA 

In Section-B, there are 27 Non-objective Short answer type 

questions, out of which any 15 questions are to be answered. 

Each question carries 2 marks. Apart from this, there are 08 Long 

answer type questions, out-of which any 04 question are to be 

answered. Each question carries 5 marks. 
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7- fdlh izdkj ds bysDVªkWfud midj.k dk bLrseky iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited.

Section- A 

iz'u la[;k 1 ls 60 rd ds izR;sd iz’u ds lkFk pkj fodYi fn, x, gSa] ftuesa ls 

,d lgh gSA vius }kjk pqus x, 50 iz’uksa ds lgh fodYi dks OMR&’khV ij fpfUgr 

djsaA             50 x 1=50 

Question No.- 1 to 60 have four options, out of which only one is 

correct. You have to mark, your selected option of 50 questions, on the 

OMR-Sheet. Each question carries 1 (one) mark. 

1- mRiknu ds fuEu esa ls dkSu ls lk/ku gS\ 

A- Hkwfe     B- Je  

C- iw¡th     D- mi;qZDr lHkh 

Which of the following is a factor of production? 

A. Land    B. Labour 

C. Capital    D. All the above 

2- miHkksDrk O;ogkj dk v?;;u fd;k tkrk gSA 

A- lw{e vFkZ’kkL= esa 

B- vk; fo’ys"k.k esa   

C- lef"V vFkZ’kkL= esa 

D- mi;qZDr esa ls dksbZ ughaA 
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Consumer behavior is studied in:- 

A. Micro Economics 

B. Income Analysis  

C. Macro economics 

D. None of the above 

3- vFkZ’kkL= ds tud dkSu Fks\ 

A. ts- ch- ls    B- ekYFkl 

C. ,Me fLeFk    D.  tkWu jkfcUlu  

Who was the father of Economics? 

A. J. B. say    B. Malthus 

C. Adam smith   D. Joan Robinson 

4- vFkZO;oLFkk dh dsUnzh; leL;k,¡ dkSu&lh gS\ 

A- lk/kuksa dk vkcaVu    B- lk/kuksa dk dq’kyre mi;ksx  

C- vkfFkZd fodkl    D- mi;qZDr lHkh 

Which is the central problem of an economy? 

A. Allocation of Resources  B. Optimum utilization of resources. 

C. Economic development  D. All the above 
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5- vFkZO;oLFkk dks oxhZd`r fd;k tk ldrk gSA 

A- iw¡thoknh ds :Ik esa    B- lektoknh ds :Ik esa  

C- fefJr ds :Ik esa    D- buesa ls lHkh 

Economy may be classified as:- 

A. Capitalist    B. Socialist 

C. Mixed    D. All of these 

6- vFkZO;oLFkk dh dsUnzh; leL;k gS%& 

A- D;k mRiknu gks     B- dSls mRiknu gks  

C- mRikfnr oLrq dk forj.k dSls gks  D- mi;qZDr lHkh 

The central problem of an economy is:- 

A. What to produce 

B. How to produce 

C. How to distribute produced goods 

D. All the above 

7- mi;ksfxrk dk x.kuokpd fl)kUr fdl us izLrqr fd;k\ 

A- ek’kZy     B- ihxw  

C- fgDl     D- lSE;qvYlu 

Who gave the cardinal concept of utility\ 

A. Marshall     B. Pigou 
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C. Hicks    D. samuelson 

8- tc dqy mi;ksfxrk vf/kdre gksrh gS] rc lhekUr mi;ksXrk%& 

A. /kukRed gksrh gSA    B. _.kkRed gksrh gSA 

C. ’kwU; gksrh gSA     D- buesa ls dksbZ ugha 

When Total utility is maximum, marginal utility is:-  

A. Positive     B. Negative 

C. Zero     D. None of these 

9- lelhekUr mi;ksfxrk fu;e ds fopkj ds ewy izfriknd dkSu Fks\ 

A- ek’kZy    B- xkslsu 

C- fjdkMksZ    D- fey 

Who basically propounded the concept of law of Equi- marginal 

utility? 

A. Marshal    B. Gossen 

C. Ricardo    D. Mill 

10- ek¡x esa dkSu lk rRo fufgr gksuk vko’;d gS\ 

A- miHkksx dh bPNk   B. ,d fuf’pr ewY; 

C. lk/ku O;; djus dh rRijrk  D. mi;qZDr lHkh 

Which element is essential for demand? 
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A. Desire to consume  B. A given price 

C. Willingness to spend  D. All the above 

11- ,slh oLrq,W ftudk ,d&nwljs ds cnys iz;ksx fd;k tkrk gS] dgykrh gS%& 

A- iwjd oLrq,¡     B- LFkkukkiUu oLrq,¡ 

C-  vkjkenk;d oLrq,¡   D- buesa ls dksbZ ughA 

Goods which can alternatively be used are called:- 

A. Complementary goods  B. Substitute Goods 

C. Comforts goods    D. None of these 

12- dkWQh ds ewY; esa o`f) gksus ls pk; dh ek¡x%& 

A- c<+rh gSA    B. ?kVrh gSA 

C. fLFkj jgrh gSA   D. buessa ls dksbZ ughA 

With the rise in coffee price the demand of tea :- 

A. Rises    B. Falls 

C. Remains stable   D. None of these 

 

13- ek¡x dh yksp dks ekius dk lq= fuEufyf[kr essa dkSu lk gS\ 

A- ek¡x dh ek=k esa vuqikfrd ifjoZru 
  dher esa vuqikfrd ifjoZru 
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B. dher esa vuqikfrd ifjoZru 

      Ek¡kx esa vuqikfrd ifjoZru 

C.    ek¡x esa ifjoZru 
   dher esa ifjoZru 

D.  buesa ls dksbZ ugha 
 

Which of the following is a formula for measuring the elasticity of 

demand? 

A. Proportionate change in Demand 

Proportionate change in price 

B. Proportionate change in price 

Proportionate change in demand 

C. Change in Demand 

Change in Price 

D. None of these 

14- Ek¡kx dh dher yksp ls vfHkkizk; gS%& 

A- dher esa ifjoZru ds dkj.k ek¡x esa ifjoZru B- ek¡x esa ifjoZru 

C- okLofod vk; esa ifjorZu    D- dher esa ifjoZru 

Price elasticity of demand means:- 

A. Change in demand due to change in price  

B. Change in demand 

C. Change in real Income  D. Change in price 

15-  foykflrk oLrqvksa dh ek¡x%& 

A- csykspnkj gksrh gS   B- ykspnkj gksrh gS 

C- vR;f/kd ykspnkj gksrh gS  D- iw.kZr;k csykspnkj gksrh gS 
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For Luxury goods, the demand is:- 

A. Inelastic    B. Elastic 

C. Highly elastic   D. Perfectly Inelastic 

16- mRiknu Qyu esa mRiknu fdldk Qyu gS\ 

A- dher dk    B- mRifÙk ds lk/kuksa dk 

C- dqy O;; dk   D- buesa ls dksbZ ugha 

In Prodution function, production is a function of:- 

A. Price     B. Factors of production 

C. Total expenditure   D. None of these 

17- mRiknu dk lfØ; lk/ku gS%& 

A- iw¡th     B- Je 

C- Hkwfe     D- buesa ls dksbZ ughaA 

An active factor of production:- 

A. Capital    B. Labour 

C. Land    D. None of these 

18- tks oØ igys c<+rk gS] fQj fLFkj gksdj ?kVuk vkjEHk djrk gS og dkSu lk odz 

dgykrk gS\ 

A- APP    B- MPP 



10 
 

C- TPP    D- ;s lHkh 

A curve which rises first and starts declining after that is called? 

A. APP    B. MPP 

C. TPP    D. All these. 

19- fuEufyf[kr esa ls dkSu mRifr dk lk/ku ugh gS %& 

A- Hkwfe     B- Je 

C- cktkj    D- iw¡th 

Which of the following is not a factor of production:- 

A. Land    B. Labour 

C. Market    D. Capital 

20- nh?kZdkyhu mRiknu Qyu dk lEcU/k gS %  

A- ek¡x ds fu;e ls 

B- mRifr o`f) fu;e ls 

C- iSekus ds izfrQy fu;e ls 

D- ek¡x dh yksp lsA 

Long – run production function is related to:- 

A. Law of demand 

B. Law of increasing return 

C. Law of return scale 
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D. Elasticity of Demand. 

21- ekSfnzd ykxr esa fuEufyf[kr esa fdls lfEefyr fd;k tkrk gS\ 

A- lkekU; ykHk    B. O;Dr ykxrsa 

C. vO;Dr ykxrsa    D- mi;qZDr lHkh 

Which of the following is included in monetary cost:-  

A. Normal Profit    B. Explicit Cost 

C. implicit cost    D. All the above 

22- fuEufyf[kr esa lgh vafdr dhft, %& 

A- TVC = TC - TFC   B- TC = TVC - TFC 

C- TFC = TVC + TC   D- TC = TVC x TFC 

Which of the following is correct:- 

A- TVC = TC - TFC   B- TC = TVC - TFC 

C- TFC = TVC + TC   D- TC = TVC x TFC 

23- volj ykxr dk oSdfYid uke gS ( 

A- vkfFkZd ykxr   B- lUrqyu ewY; 

C- lhekUr ykxr   D- vkSlr ykxr 

The alternative name of opportunity cost is : 

A. Economic cost  

B. Equilibrium price 
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C. Marginal cost    

D. Average cost 

24- iw.kZ izfr;ksfxrk esa & 

A- AR = MR    B. AR > MR 

C. AR < MR    D. AR + AC = MR 

In perfect competition:- 

A- AR = MR    B. AR > MR 

C. AR < MR     D. AR + AC = MR 

25- oLrq dh iwfrZ ds fu/kkZjd ?kVd gSa & 

A- oLrq dh dher    B- lEcfU/kr oLrqvksa dh ewY; 

C- mRiknu ds lk/kuksa dh dher  D- mi;qZDr lHkh 

Determining factor of supply of goods is:- 

A. Price of goods    B. Price of related goods 

C. Price of factors of production D. All the above 

26- tc dher esa FkksM+k lk ifjoZru gksus ij iwfrZ esa T;knk o`f) gks tk;s rks iwfrZ dk 

Lo:Ik fuEufyf[kr esa dkSu&lk gksxk :& 

A- ykspnkj    B- csykspnkj 

C- iw.kZykspnkj    D- iw.kZcsykspnkj 
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When supply increases more with a result of small increase in 

price, the nature of supply will be:- 

A. Elastic    B. Inelastic 

C. Perfectly elastic   D. Perfectly Inelastic 

27- cktkj dh fuEufyf[kr esa ls dkSu&lh fo’ks"krk gS\ 

A- ,d {ks=    B- dzsrk ,oa fodzsrk dh ekStwnxh 

C- oLrq dk ,d ewY;   D- mi;qZDr lHkh 

Which of the following is a characteristics of market? 

A. One area     

B. Presence of Buyers and sellers 

C. One price of the commodity  

D. All of the above 

28- cktkj dh fLFfr ftlesa oLrq dk dsoy ,d gh Øsrk gksrk gS] dgykrk gS %& 

A. ,dkf/kdkj     B. eksuksIlksuh 

c. }kjkf/kdkj     D. buesa ls dksb ugha 

Market situation where there is only one buyer is:-    

 A. Monopoly   B. Monopsony 

c. Duropoly            D. None of the above    
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29- lUrqyu dher ds fu/kkZjd ?kVd fuEufyf[kr esa dkSu& ls gSa\ 

A- oLrq dh ek¡x 

B- oLrq dh iwfrZ 

C- A vkSj B nksuksa    D- buesa ls dksbZ ugha 

Which factor determines the equilibrium price? 

A. Demand of commodity.  B. Supply of commodity 

C. Both A and B    D. None of these 

30- dher fu/kkZj.k izfdz;k esa le; rRo dk fopkj fdl us izLrqr fd;k\ 

A- fjdkMksZ     B- okyjl 

C- ek’kZy     D- ts- ds- esgrk 

Who gave the concept of Time element in price determination 

process? 

A. Ricardo    B. Walras 

C. Marshal    D. J. K. Mehta 

31- vfr vYidky esa iwfrZ gksxh %& 

A- iw.kZr% ykspnkj    B- iw.kZr% csykspnkj 

C- ykspnkj     D- buesa ls dksbZ ugha 

In very short period, supply will be :- 

A. Perfectly elastic   B. Perfectly inelastic 

C. Elastic    D. None of these 
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32- iw.kZ izfr;ksxh QeZ dks lkeuk djuk iM+rk gS & 

A- fLFkj dher dk   B- fLFkj vkSlr vkxe dk 

C- fLFkj lhekUr vkxe dk  D- mijksä lHkh 

A perfect competitive firm faces:-  

A. Fixed price   B. Constant AR 

C. Constant MR   D. All the above 

33- lef"V vFkZ’kkL= v/;;u djrk gS %& 

A- iw.kZ jkstxkj  dk   B- lexz dher Lrj dk 

C- ldy jk"æh; mRikn dk  D- mijksDr lHkh 

Macro economics studies;- 

A. Full employment   B. Aggregate Price level 

C. Gross national Product  D. All of above 

34- iw¡th ds LVkWd dh òf) dgykrh gS & 

A- iw¡th gk~l     B- iw¡th ykHk 

C- iw¡th fuekZ.k     D- buesa ls dksbZ ugha 

Increase in stock of capital is known as:- 

A. Capital Loss    B. Capital Profit  

C. Capital Formation   D. None of these 

35- izkFkfed {ks= esa lfEefyr gksrk gS %& 
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A- d`f"k      B- [kqnjk O;ikj 

C- y?kq m/kksx     D- buesa lHkh 

Primary sector includes:- 

A. Agriculture   B. Retail Trading  

C. Small Industries  D. All these 

36- ,d [kqyh vFkZO;oLFkk esa lkewfgd ek¡x ds la?kVd dkSu gS\ 

A- miHkksx     

B- fuos’k 

C. miHkksx $ ljdkjh O;; 

D- miHkksx $ fuos’k $ ljdkjh O;; $ ’qk) fu;kZr 

In an open economy which are the components of Aggregate 

demand? 

A. Consumption     

B. Investment  

C. Consumption + Expenditure 

D. Consumption + Investment + Govt. Expenditure + Net export 

37- f}rh;d {ks= esa dkSu&lh lsok,W lfEEfyr gS\ 

A- chek      B- cSafdx  

C- O;kikj     D- fofuekZ.k 
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Which of the following is included in secondary sector? 

A. Insurance     B. Banking 

C. Trade     D. Manufacturing 

38- dkSu lk lR; gS \ 

A- GNP = GDP + f?klkoV  B- NNP = GNP + f?klkoV  

C- NNP = GNP - f?klkoV  D- GNP = NNP - f?klkoV 

Which one is true? 

A- GNP = GDP + f?klkoV  B- NNP = GNP + f?klkoV  

C- NNP = GNP - f?klkoV  D- GNP = NNP - f?klkoV 

39- fdlh vFkZO;oLFkk esa ,d o"kZ ds vUrxZr mRikfnr vfUre oLrqvksa rFkk lsokvksa ds 

cktkj ewY; dks dgrs gSA 

A- dqy jk"Vªh; mRikn    B- jk"Vªh; vk;  

C- dqy ?kjsyw vk;    D- fo’kq) jk"Vªh; mRikn 

The market Value of all final goods and services produced in an 

economy over a year is called;- 

A. Gross National Product  B. National Income 

C. Gross domestic product  D. Net National Product 

40- jk"Vªh; vk; dk ekiu fdl fof/k ls fd;k tkrk gS\ 

A- mRiknu fof/k    B- vk; fof/k  

C- O;; fof/k     D- ;s lHkh 
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Which method is adopted in measuring National Income? 

A. Production Method   B. Income Method 

C. Expenditure Method   D. All of these 

41- ykHk ds dkSu&ls ?kVd gSa \ 

A- ykHkka’k     B- vofrfjr ykHk 

C- fuxe ykHk dj    D- ;s lHkh 

Which one is a component of profit ? 

A. Dividend    B. Undistributed Profit 

C. Corporate Profit Tax  D. All these 

42- ^^eqnzk og gS tks eqnzk dk dk;Z djs** fdlus ;g dgk Fkk \ 

A- gkVZys fonlZ    B- gkVªs   

C- Fkkel    D- dhUl 

“Money is what money does” who said it? 

A. Hartley Withers   B. Hawtrey 

C. Thomas    D. Keynes 

43- ezqnzk ds izkFkfed dk;Z ds varxZr fdls 'kkfey fd;k tkrk gS \ 

A- fofue; dk ek/;e   B- ewY; dk ekid  

C- A vkSj B nksuksa   D- ewY; dk lap; 

Which is included in the Primary function of money? 
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A. Medium of Exchange  B. Measure of Value 

C. Both A and B   D. Store of Value 

44- Ekqnzk dh iwfrZ ls gekjk vk’k; gS % 

A- cSad esa tek jkf’k    B- turk ds ikl miyC/k :Ik;s  

C- Mkd?kj esa tek] cpr [kkrs dh jkf’k D- buesa ls lHkh 

By supply of money we mean : 

A. Money deposited in Bank   

B. Money available with public 

C. Deposit with Post office saving bank   

D. All of these 

45- oLrq&fofue; iz.kkyh esa dkSu ls ykHk gSa \ 

A- ljy iz.kkyh   B- vkilh lg;ksx esa òf)  

C- vkfFkZd vlekurk,  ugha  D- mi;qZDr lHkh 

What are the advantage of Barter System ? 

A. Simple System   B. More Mutual Co-operation 

C. No Economic Disparities D. All the above 

46- O;kikfjd cSad fdl izdkj dk _.k nsrs gSa \ 

A- udn lk[k    B- vf/kfod"kZ  

C- _.k ,ao vfxze   D- mi;qZDr lHkh 
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What type of loan is advanced by Commercial Bank ? 

A. Cash credit   B. Overdraft 

C. Loan and Advance  D. All of these 

47- dsUnzh; cSad ds fy, dkSu&lk dFku lgh gS \ 

A- dsUnzh; cSad ns’k dk loksZPp cSad gS & 

B- dsUnzh; cSad ij ljdkj dk LokfeRo gksrk gSA 

C- dsUnzh; cSad ns’k esa cSafdax iz.kkyh dk lapkyu djrk gS   

D- mi;qZDr lHkh 

Which statement is true for the central Banks? 

A. Central Bank is the Apex Bank of the country 

B. Ownership of the Government on Central Bank 

C. Central Bank Regulates the entire banking system in the 

country. 

D. All the above 

48- dsUnzh; cSad }kjk dkSu&lh eqnzk tkjh dh tkrh gS \ 

A- pyu eqnzk    B- lk[k eqnzk  

C- flDds    D- buesa ls lHkh 

Which type of currency is issued by Central Bank? 

A. Currency    B. Credit Money 
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C. Coins    D. All of these 

49- Hkkjr esa cSafdax {ks= lq/kkj izkjEHk gqvk % 

A- 1969 esa    B- 1981 esa  

C- 1991 esa    D- 2001 esa  

Banking Sector Reforms in India began in : 

A. 1969    B. 1981 

C. 1991    D. 2001 

50- Hkkjr esa 14 cM+s vuqlwfpr O;kolkf;d cSadks dk jk"Vªh;dj.k fd;k x;k\ 

A- 1949 esa     B- 1955 esa 

C- 1969 esa     D- 2000 esa 

14 big scheduled commercial banks in India were nationalist in : 

A. 1949     B. 1955 

C. 1969     D. 2000 

51- ^^iwfrZ Lo;a ek¡x dk l`tu djrh gS** fdlus ;g fu;e fn;k % 

A- ts0 ch0 ls0 us    B- ts0 ,l0 fey us 

C- dhUl us     D- fjdkMksZ us 

“Supply creates its Own Demand”. Who gave this law? 

A. J. B. Say     B. J. S. Mill 

C. Keynes     D. Ricardo 

52- dhUl dk jkstxkj fl)kUr fdl ?kVd ij fuHkZj gS \ 
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A- izHkkoiw.kZ ek¡x    B- iwfrZ 

C- mRiknu {kerk    D- buesa ls dksbZ ugha 

On which factor Keynesian Theory of Employment depends? 

A. Effective Demand   B. Supply 

C. Production Efficiency   D. None of these 

53- dkSu&lk dFku lR; gS \ 

A. MPC + MPS = 0   B. MPC + MPS < 1 

C. MPC + MPS = 1          D. MPC + MPS > 1 a 

Which statement is true ? 

A. MPC + MPS = 0   B. MPC + MPS < 1 

C. MPC + MPS = 1          D. MPC + MPS > 1    

54- “Traited Economics Politique” uked iqLrd ds ys[kd dkSu gS \ 

A- ihxw      B- ts0 ch0 ls 

C- ts0 ,e0 dhUl    D- fjdkMksZ 

Who is the writer of “Traited Economic Politique”? 

A. Pigou      B. J. B. Say 

C.  J. M. Keynes    D. Ricardo 

55- dkSu&lk dFku lR; gS \ 

A- K =       B- K =  I 
MPC 

I 
MPS 

I 
1 - MPS 

I 
1 + MPS 
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C- K =       D- K =  

Which statement is correct ? 

A. K =       B. K = 

C. K =       D. K =  

56- voLQhfrd varjky dh n’kkvksa esa % 

A- ek¡x esa rsth ls òf) gskrh gS  B- iwfrZ esa rsth ls òf) gksrh gS 

C- iwfrZ ,oa ek¡x nksuksa cjkcj gksrs gSa  D- buesa ls dksbZ ugha 

In the situation of deflationary gap : 

A. Demand increases rapidly   

B. Supply increases rapidly 

C. Both demand and supply are equal   

D. None of these 

57- LQhfrd varjky dks Bhd djus ds fy, ekSfnzd mik; dkSu&ls gSa \ 

A- cSad nj esa òf)   B- [kqys cktkj esa izfrHkwfr;k¡ cspuk 

C- udn dks"k vuqikr esa òf) D- mi;qZDr lHkh 

Which monetary measure is adopted in correcting Inflationary 

Gap?  

A. Increase in Bank Rate  

B. Selling Securities in open Market 

I 
1 - MPS 

I 
1 + MPS 

I 
MPC 

I 
MPS 

I 
1 - MPS 

I 
1 + MPS 
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C. Increase in Cash Reserve Ratio    

D. All the above 

58- izR;{k dj ds varxZr fdls 'kkfey fd;k tkrk gS \ 

A- vk; dj     B- migkj dj 

C- A vkSj B nksuksa    D- mRikn dj 

Which is included under Direct Tax ? 

A. Income Tax    B. Gift Tax 

C. Both A and B    D. Excise Duty 

59- fons’kh fofue; nj dk fu/kkZj.k gksrk gS % 

A- ljdkj }kjk     B- eksy&rksy }kjk 

C- fo’o cSad }kjk    D- ekax ,oa iwfrZ dh 'kfDr;ksa }kjk 

Foreign exchange rate is determined by: 

A. Government   B. Bargaining  

C. World Bank   D. Demand and Supply Forces 

60- O;kikj larqyu dk vFkZ gksrk gS % 

A- iw¡th ds ysu&nsu ls   B- oLrqvksa ds vk;kr ,oa fu;kZr ls 

C- dqy ØsfMV rFkk MsfcV ls   D- buesa ls lHkh 

Balance of Trade means : 

A. Capital Transaction   B. Import and Export of good s 
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C. Total Credit and Debit  D. All of these 

Section-B

 Non-Objective Type Questions 

Short Answer Type Questions

iz’u la[;k 1 ls 27 rd y?kq mÙkjh; gSaA buesa ls fdUgha 15 iz’uksa ds mÙkj nsaA izR;sd iz’u 

ds fy, 2 vad fu/kkZfjr gSaA       (15x2=30) 

Question no. 1 to 27 are Short answer type. Answer any 15 questions. Each 

question carries 2 marks.      (15x2=30) 

1- fdUgha nks vkfFkZd fØ;kvksa dks crkb,A 

Mention any two Economic Activities. 

2- iw¡thoknh vFkZO;oLFkk dks ifjHkkf"kr dhft,A 

Define Capitalistic Economy. 

3- dqy mi;ksfxrk dk lq= fy[ksaA 

Write the formula of Total Utility. 

4- ek¡x ds nks fu/kkZjd rRo crkb,A 

Name two determinants of Demand.  

5- ek¡x ds fu;e ds D;k viokn gSa\ 

What are the exceptions of law of Demand? 

6- fLFkj ykxr dh ifjHkk"kk nhft,A 

Define fixed cost. 
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7- larqyu dher fdls dgrs gSa \ 

What is Equilibrium Price? 

8- ,d oLrq dh iwfrZ dks izHkkfor djus okys nks dkjd crkb,A 

Mention two factors affecting the supply of a commodity. 

9- cktkj dh nks izeq[k fo’ks"krk,¡ fyf[k,A 

Write two basic features of Market. 

10- ,dkf/kdkjh izfr;ksfxrk ds nks izeq[k fo’ks"krk,¡ fyf[k,A 

Write two main features of Monopolistic Competition. 

11- lef"V vFkZ’kkL= dh nks fo’ks"krkvksa dks crkb,A 

Mention two features of Macro Economics. 

12- vk; dk pØh; izokg le>kb;sA 

Explain the Circular Flow of Income. 

13- izkFkfed {ks= ds la?kVdksa ds uke fy[ksaA 

Write two components of primary sector. 

14- vFkZO;oLFkk ds f}rh;d {ks= dh ifjHkk"kk nhft,A 

Define secondary sector of the economy. 

15- vPNh eqnzk ds fdlh nks xq.kksa dks fy[ksaA 

Write any two merits of a good money. 

16- eqnzk ds nks eq[; dk;ksZa dks fyf[k,A 

Write two primary functions of money. 

17- lkof/k tek ds nks xq.kksa dks fy[ksa %& 

Write two merits of time deposit. 
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18- lk[k fuekZ.k ls D;k vk’k; gS \ 

What is meant by credit creation? 

19- dsUnzh; cSad ds nks eq[; dk;Z crkb,A 

Mention two main functions of a Central Bank 

20- ^lek’kks/ku x`g* dks ifjHkkf"kr dhft,A 

Define ‘Clearing House’. 

21- Lkexz ek¡x ds nks ?kVd crkb,A 

Mention two components of aggregate demand. 

22- jktdks"kh; uhfr dk D;k vFkZ gS \ 

What is meant by Fiscal Policy ? 

23- cSad nj D;k gksrk gs \ 

What is Bank Rate ? 

24- O;kikj pØ dks ifjHkkf"kr djsaA 

Define Trade Cycle. 

25- vizR;{k dj ds nks mnkgj.k nsaA 

Give two examples of Indirect Tax.  

26- [kqyh vFkZO;oLFkk ds nks xq.kksa dks crkb,A 

Mention two merits of an open Economy. 

27- [kqys cktkj dh fØ;k,¡ D;k gS \ 

What are open market operation.  
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Long Answer Type Questions

iz’u la[;k 28 ls 35 rd nh?kZ mÙkjh; iz’u gSaA buesa ls fdUgha 4 iz’uksa ds mÙkj nsaA izR;sd 

iz’u ds fy, 5 vad fu/kkZfjr gSaA     (4x5=20) 

Question no. 28 to 35 are Long answer type questions. Answer any 4 

questions. Each question carries 5 marks.    (4x5=20) 

28- Lke&lhekar mi;ksfxrk ds fu;e dks le>kb,A 

Explain the law of Equi-marginal Utility. 

29- ek¡x dh dher yksp dks izHkkfor djus okys rRoksa dh O;k[;k dhft,A 

Explain the factors determining price elasticity of demand. 

30- Ckktkj ewY; ,oa lkekU; ewY; esa varj dhft,A 

Differentiate between Market Price and Normal Price. 

31- jk"Vªh; vk; dh x.kuk dh fof/k;k¡ le>kb,A 

Discuss the methods of measuring national income. 

32- eqnzk ds eq[; dk;ksZa dk o.kZu djsaA 

Describe the main functions of Money. 

33- O;kikfjd cSad ds fofHkUu dk;ksZa dk mYys[k djsaA 

Explain the various functions of Commercial Bank. 

34- Lkjdkjh ctV ds mí’;ksa dk o.kZu djsaA 

Describe the objectives of Government Budget. 

35- fofue; nj D;k gS\ vuqdwy ,oa izfrdwy fofue; njksa dks le>kb,A 

What is exchange rate? Explain the favourable and unfavourable 

exchange rate. 




